
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

ljw'tLs/0f tk{m 

1 s]Gb|Lo  nfOg lj:tf/ 1,000,000.00     

;8s tkm{ 

1 ef]DnL uNofFª5\ofª s[lif{ ;8s x'Fb} dbfg] hf]8\g\ df]=jf= lgdf{0f 400,000.00      

2 bfx|]9'Ëf ;f]O/] u'NdL hf]8\g] df]=af=lgdf{0f 200,000.00      

ejg lgdf{0f

1 ;fd'bflos ejg lgdf{0f 200,000.00      

2 s[lif ;+sng s]Gb| ejg lgdf{0f 200,000.00      

3 em\ofndf uL|n tyf /+u /f]ug ;lxt ejg lgdf{0f 3,000,000.00     

4 dx]Gb| k|f=lj= k}oF'kf6fdf $ sf]7] kSsL ejg lgdf{0f 2,400,000.00     

5 afn;'wf/ k|f=lj=df # sf]7f e'FO{ 9nfg 60,000.00       

:jf:Yo

1 cvf{ :jf:Yo rf}sLdf efG;fsf]7f lgdf{0f 50,000.00       

emf]=k'=dd{t

1 cw]/Lvf]nf emf]=k'=dd{t 50,000.00       

vfg]kfgL tyf ;/;kmfO{

1 ;Nnfaf]6 vf=kf= lgdf{0f 150,000.00      

2 s"b| b]vL nfd8fF8f vf=kf= lgdf{0f 50,000.00       

3 l;b'/] vf=kf= lgdf{0f 50,000.00       

4 lakm/ a:g] vf=kf= lgdf{0f 50,000.00       

5 l6d'/] vf=kf= lgdf{0f 100,000.00      

6 7'nfl;d kf]v/L ne9'Ëf vf=kf= lgdf{0f 100,000.00      

l;+rfO{

1 /f]PnL vf]nf–7'nfvs{ l;+rfO{ of]hgf 100,000.00       

2 h'/9'Ëf l;+rfO{ of]hgf lg/Gt/tf 100,000.00      

3 a'9]gL vf]nf l;+rfO{ of]hgf 100,000.00      

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= ! -cvf{_

1



e'MIfo tyf gbL lgoGq0f

1 emf/jfªvf]nf b]vL xfhf{ vf]nf ;Dd e'MIfo lgoGq0f 300,000.00      

2 afn;'wf/ k|f=lj= e'MIfo lgoGq0f 200,000.00      

3 ;/:jtL k|f=lj= e'MIfo lgoGq0f 100,000.00      

nlIft ;d'x÷ju{ 

1 h]i7 gfu/Ls k|ltIFffno lgdf{0f 150,000.00      

2 dlxnf ;zlQms/0f tflnd 50,000.00       

3 n3' pBd ejg lgdf{0f -dlxnf÷hghflt_ 200,000.00      

4
ljBfno cfpg]–hfg] ljBfyL{x?sf nflu d'Vo ;8s b]vL cvf{ 

df=lj= sf] tNnf] ejg ;Dd kSsL ;L8L lgdf{0f 200,000.00      

ko{6s

1 s}nfzbxdf kf}jf lgdf{0f 200,000.00      

2 s}nfzbxdf k|ltIffno÷kf}jf lgdf{0f 650,000.00      
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